ERZEH

1. ZEAABCH, a, b, CHH=AMNMA. B. CHIH, Azg, b=4, Hi%=HIE

HWAME, Nda KB ETE Ry
2. fEAABCH, Z/A:/B:/C=3:4:5, NIBC:CA:AB_ .

3. fEAABCH, A, B, CHXHIAsmIva, b, €, #sinA:sinB:sinC=4:5:7,

cosB =

4. ©%1 aABC Hh, =4 HAN a boc, XN AL B . C, ¥
(a+b+c)(a+b-c)=3ab , M «C=
5. {EAABC 1, a=3, b=2, cos(A+B)=%, ik = . Il AABC [94bE R

RI=_

6. fEAABC 1, #7sin? A+sin?B+sin AsinB=sin?C, H 4Bl Fih KN 2, N AABC

AR R e KAE A -

7. fEAABCH1, CD A CHIFIr4, #B=2A, 3AD=4BD, ljcosA% T :

8. fEBiM=AMM ABCH, WBCKN1, HB=2A, NiLAC HKEZRUELEZ .

9. fE=HFsHEP—-ABC 71, PA LT ABC,PA=AC =2,/ABC =30, =%k P — ABC [114}

EERIREAR

10. fEAABC 1, #asinB+bcosA=c, N|B=



11. f£AABC 1, CLHIAB=X, BC=2v2, c=§, EAEPIANRREI = 487% ABC, I

XPPEVEEE

12. EL517E AABC 1, B:g, CB=6, AB=8, AC i D, #HKEN 3 HLEPQ

(RPAERQMIZM) fEELEBC LiFZ, W AP+ DQ [/ ME N :

13. EAABCEP’ ﬁAy By Cﬁng‘jzéj\%uﬁay by C, HBZGOQy a+C:67

b=23, W AABC (TR AN .

14. T FA7IULTE ABCD, X2k AC =247, BD=2v3, AB=4, JlliJ

AD =

15. #£AABCH1, a=8, b=7, c¢=3, Njtan(A+C)=

16. fEAABC 1, #c=8, b=14, BCiI Ltk AD K A7, Nja=

17. AABC [N A B,C fixtiisr il hab,c, #Fb=4, HAABC KN

48 =+3(a’+c*~b), Ma+crmAMA_____

18. £ AABC 1, ABAC=g, BC =47, AB=2, BAC{F/£3BC T D, N AD]
19. AABCH A, B, CHXIHILS M va, b, ¢, 241a=3, DNBCHA, H
BD=2CD, AD=1, llb+cimKEN___

20. TiifAN 36 IE = MIEME R & =M, HRILEEKZ N ESEL \/52_1, i
cos36° [F{E N .



21. E%H@iﬁ(f(X)=\/2§SinX+COSZ)2(—;’ %Eliﬁ(f(x)@l%ﬁEiFﬁzg/l\ﬁﬁ&fﬁy 33
PR g() IR, (1R 9(X) (BRI s 4 [X [ ;

(2)f£ aABC H1, #9(B)= %,b =243, =k aABC IR 15 A1l

22. CHIAABC =AM A B,C Xty A a.b,c, # p=%(a+b+c), AABC i AR

H9S. (ki S=4p(p-a)(p-b)(p-c): @k p=15, $=15/3, sKRAABC i)

4% r 3)E 4 p=8, Hc*=6(acosB+bcosA), k.S kfH.

23. 7EAABC 1, acosB+bcosA=2ccosA.
(D)=R A RN
Q&AM BC T A D, a=7, AABC [HEK A 15, Rk AD K.



24. E%ﬂl%liﬁ(f(X):ZSinx-sin[x+nj 3

2 R E‘JJ%,HH&E(O,%)iEMEiﬁ; Q)81

i AABC H1,BC =24/2, H.AABC (I N V3, f(A)=*/2§, 3k BC il BRI 2R AT B

25. Bif AABC 1, fA, B, CHIXISMIANHA @, b, C, zBAC=§, b=2.

(DA a=3, 3RsinC;(2):K a® + 4c [MWHUEE .

26. 7EAABC H1, V51 AB=24/3,BC =3++/3,AC=32.

()>k £ABC; (2Q)#7EBCil EFAESE, 1#AABE N =M, K AE+BE HBUETEH.



